N = 0l & At & M A

AN GEIEY
g d =X sd
ool HESII3 2Y(HBSIIS) (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
&It 0t 155,949 261,566 A 105,617
oE =X 88 30,000 30,000 0
HES)I3 24(84Es013) 30,000 30,000 0
HdE8SIla 2l 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
10 ALSISXAIEEE2EHEX 30,000 30,000 0
OWMAASHYL sHIY L SXNSIAY X
2 30,000, 000& 30,000
HeEs 125,949 231,566 A 105,617
BENE(HESIIZ) 125,949 131,566 A5,617
d8SJz= WX3 125,949 131,566 A5,617
602 Gl Xl = 125,949 131,566 A5,617
01 OiXl= 125,949 131,566 N5,617
Od&8sJlza Wx3 125,949,000& 125,949

- 610 -




